CP300 ERIryF
ReHS ] 42 BaL-t-i ImAo

FEE [vrohey| ALk | 7

SK95 S45C
sosiass | FEARE | AR | LT,
IR | n-pisee | n-si

L L1

La P
M3X0.5-6L {EFE/< AR fF&EARIVh P/2

T O ©
2|3 — T — o

o 54

d INRIT
ﬁ b HK (P. 321 )
rl[ D1
% ]
i

=
==
|

M2 RARfFELEDHRY

1 Lo

/M ;fﬂ Jdkﬁg
) RN%% . %Q

@ HEER
/T EAREGRIERE Y IM ERLET,
/T EEREGIE T A IMNERTERFTLES,

£ - #18H TEL.0575-28-4811 TEL.0575-32-2239 97t D-KL-I3D



AR & H D | D1 M L |W|Hi|Dz2| L | Lz| Ls M

CP300-08040 | 40 25 | 16 | M 8x125%&12| 80| 40 | 31 | 32 | 22 |235| 8 |M8x1.25

CP300-10050 | 50 32 | 20 | M10Xx15 R&15| 95| 50 | 39 | 40 | 25 | 28 9 | M10Xx15

oo~ O

CP300-12060 | 60 38 | 24 | M12x1.75% 18 | 115 60 | 47 | 50 | 32 |355| 12 | M12X1.75

o HEH | BNV | FARE | B2
AR & Hz| d | P | Pi | Ls M2 (N) (N-m) N) | (kg)

CP300-08040 | 18 | 55| 40 | 25 10| Maxo7 700 1 8 0.82
CP300-10050 | 23 | 6.5| 50 | 30 ' 800 1.5 128 | 1.52
CP300-12060 | 28 |9 |60 | 40 | 15| M5x0.8 | 900 2 18.5 | 2.67

EFfY - EFAJTE

REDIvyx
« ZINF D EE)
- BOAHICERETERL

|
=R vv¥ i
\

c ST DI BRI
- ECICTHECERTRE!

e /@ Lo

TaFAOmAN [ ) —wn rﬂ%
3 T
i ; a

{

ER/N— #A4R7TavY

(Bl Eem) (B Eem)

c EREN-FEFIEL TTELZ ISV GRBIBRECTER TEET,
cERN—IZI3Zy TRINTERL TSV, (HERSR)
ERN—ICEVEBRIRET 3B E ./ TRERN—ICRHIBATIERZE,

B EH AL IIENR /T HKEF S TREL
BADETT, (P.321 2H8)

£ - #18A TEL.0575-28-4811 TEL.0575-32-2239 97 D-KL-I3D




